Ta¢pacTpyKkTypa NiATPUMKH MAJIOTO i cepeIHbOro MiANPHEMHHUITBA 1O perionax craHom Ha 01.01.2019
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Binnunnka 5 — 4 3 9 48 33 457 2 80 1 34
BosuHcbka 2 2 — — 5 — — 1 9 28 — 15
JninpomeTpoBchKa 54 7 1 19 1 1 — 10 40 58 7 39
JoHenbka 20 3 9 30 1 237 121 599 1 65 2 19
Kutomupcbka 2 1 2 4 2 7 8 257 2 112 112 29
3akapnarcbka 2 2 - 3 3 27 22 117 — — — —
3anopizbka 2 6 — 2 1 20 2 15 5 75 19 27
IBano-®paHkiBcbKa 18 3 2 4 7 - — 78 3 64 64 20
KuiBcbka 9 5 2/6 12 8 10 4 88 6 78 1 38
KipoBorpaacska 5 - 1 - 3 - 12 47 30 52 10 26
Jlyrancbka 9 — — — — — 13 — 38 5 4
JIbBiBChKa 17 1 3 9 8 2 — 22 13 60 38 32
MukosaaiBcbKa 14 2 — 1 8 62 — 65 65 —
Onecbka 3t — — — 4 — — — 20 38 — 1
MoaTaBchka 11 4 6 5 13 62 35 615 2708 2708 32
PiBHeHCBKa 1 1 1 — — 24 2 10 — 42 42 21
CymchbKka 4 5 — 3 7 5 2 21 6 76 25 26
TepHoninbcbka 7 3 — — 1 10 — 18 — 30 30 17
XapkiBcbka 26 1 18 9 8 142 2 328 — 48 — 15
XepcoHchKa 1 3 1 - 7 19 9 1 - 112 112 23
XMeJbHAIBKA 3 1 2 4 1 — 1 151 3 62 18 27
Yepkacbka 5 3 — 3 2 1 38 5 11 56 36 26
YepuiBenbka 7 1 1 1 10 2 2 26 2 57 57 13
YepniriBebka 2 — — — 2 — — 4 2 47 20 24
M. KniB 157 13 33 429 57 1 466 476 658 1 310 — 11
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